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Problem 1: The Infinite Square Well: (10 Points)

A single particle is in a one dimensional infinitely deep potential well of width L where V (z)
is given by:

0, if0<z<L
\/ Vi) = { 00, otherwise

1. Find the allowed energies (E,) and the normalized eigenfunctions (¥(z)) to Schrodinger’s
Equation for this potential. Show all your work. (2 Points)

2. Sketch the wave functions for the first three stationary states for this potential. (2
Points)

/ 3. Now, if four spin-1/2 identical particles of mass m are placed in this potential, calculate
the three lowest values for the total energy of the system of particles. (3 Points)

4. Determine the degeneracy for each of the three energy states found in part 3. (3 Points)
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Problem 2: The Harmonic Oscillator (10 Points):

The normalized wave functions for the one-dimensional quantum harmonic oscillator can be
written as,

1/2
nle) = <2n;f/7r) e /2, (Vaz),

where n is the principle e quantum nu number of the oscillator, Hy, is the nt® order Hermite poly-
nomial, li_ﬁlcu’rﬁﬂl_w is the os oscﬂlator frequency, and m is its mass. The following equations
may be useful

ﬂ.Hn+1(Q) +2nHy_1(q) — 29Hyu(q) =0

= dH, (Q)
> dq

= 2an—1(q)
. T g = Jx X

and
S O wm—%“w‘?

A 3 (HnlgHn+1) = 2"‘(n + 1) \/_

T (HolqH- 1>—2"1 f

= S \A:(q,\% W) 49 2w @ 4 u, )= R RARrTE et

1. Calculate the expectation value of z and 2 for the nt state of the e harmonic oscillator,
where z is the position. (2 Points) T
vhe postlf

2. Calculate the expectation value of p and p? for the n** state of the harmonic oscillator,
where p is the momentum. (2 Points)

3. Calculate Az and Ap for the n*® state. What is the uncertainty product (AzAp) for
the oscillator?(2 Points)

4. Calculate the expectation value of the kinetic energy and the potential energy of the nt*
state of the oscillator. Show that the sum of the expectation value of the kinetic and
potential energies are equal to the total energy of the n'® state. (2 Points)

5. How does the uncertainty principle relate to the fact that the energy is not zero in the
ground state? Explain and interpret your answer to receive credit.(2 Points)
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Problem 3: The Variational Principle: (10 Points)

If the case where you would like to calculate the ground state energy (Eg) for a system described
by the Hamiltonian H but you are unable to solve the Schrodinger equation, the variational
principle will give you an upper bound for the ground state energy.

For any normalized function ¥, the variational principle states:

By < (Y|H|T)
1.(2 Points) Prove the variational principle. i.e show that

Eg < (¥|H|T)
Hint (Write ¥ = X, cn¢n where ¢, are the (unknown) eigenfunctions of H)

Now consider a specific case:
In the x-basis, a one-dimensional operator

d2
Q=—-——
dz? + [al
has an eigenvalue A and an eigenfunction #(z) with ¢(z) — 0 for |z| — oo.
Let us choose an unnormalized trial function © < &
a—|z|, for |z| < a, and =
ve) = i) = {710 Prigsmad = _
0, for |z| > « =) K7
where a is the variational parameter.
X 7
................ - (x) w £ - S
* /%1&,% -
S \“*-_.\ + e
/ I LY (

- éﬁ -3
2. (2 Points) Find (¢|¢).

3. (3 Points) Find the expectation value of the operator Q.

4. (3 Points) Determine the best bound on the lowest eigenvalue () of the operator Q
\ with the trial function 4(z). (Note your answer cannot depend on a.)
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roblem 4: Measurement of Hermitian Observables: (10 Points)

Consider a system with three Hermetian observables that are represented in a three-dimensional
Hilbert space using the orthonormal basis |e;), |e2) and |e3)

with
1 0 0
le)=1 0 [,le2)=| 1 [,les)=| O
0 0 1
and
2 00 1 0 0 010
A={010]},B=|0 1 2 |, C=]100
0 01 0 —-27 1 0 01
The system at time\ t=0 is in the state:
I o 1
oo o 2 0= GG
o & S

/Q‘\
\ ® 1. Find the eigenvalues and normalized eigenvectors of B and C. (1 Point)

2. Find the probability of measuring B at time ¢ = 0 with the eigenvalue b = 1, and then
immediately measuring C' and finding the eigenvalue c = 1, i.e. find Pg(q) (b =1,c =1).
(2 Points)

3. Now find the probability if these measurements are performed in reverse order at ¢ = 0,
i.e. find Pyg(o)(c =1,b=1). (2 Points)

4. Are the probabilities obtained in part 1. and part 2. the same or different? Explain in
detail. (2 Points)

5. Use the Generalized Uncertainty Principle to determine a lower bound on ABAC for
the system in the initial state |¥(0)). Discuss your results. (2 Points)

6. Discuss in detail, the conditions that would result in obtaining a lower bound of zero
when using the Generalized Uncertainty Principle. Would you expect to get zero for a
particular pair of the observables, A, B, and C in this problem? Or for other conditions?

(1 Point)
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Problem 5: Perturbation Theory: (10 Points)

A single particle is in a one dimensional infinite well of length L. The potential V(z) is given
by:

0, f0<z<L
00, otherwise

Viz) = {
Suppose the potential energy inside the well is changed to
. T
Viz) = esin—
when 0 <z < L.

Note you may use your results from Problem 1 for this problem.

1. Calculate the energy shifts for the perturbed well to first order in €. (2 Points)
Which energy level is shifted the most to first order in €¢? (1 Point)

Calculate the second order (in €) correction to the ground state energy (2 Points)

W N

Calculate the corrections to the ground state wavefunction to first order in €. (2 Points)

5. Suppose that € is larger than the energy of the first excited state. Carefully sketch the
wavefunction versus z for the ground state and for the first excited state. How many
nodes, maxima, and minima does the wavefunction have in each state. (2 Points)

6. Suppose the wavefunction is a linear combination of the ground state and the first excited
state from part 5. Describe how the maximum of the probability density depends on
time.(1 Point)
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Problem 6: Spherically Symmetric States: (10 Points)

Consider eigenfunctions of the Hamiltonian of a particle in a three-dimensional central po-
tential. In particular, consider those eigenfunctions that depend only on the electron’s radial
coordinate r, that is W g=V¥g(r). States represented by such eigenfunctions are called “spher-
ically symmetric states”.

1. Derive an equation for a function xg(r) defined by:

Ta(r) = Dxalr),

where n is the principle quantum number. (2 Points)

The remainder of this problem concerns a hydrogen atom in the approximation that
we neglect all interactions except the Coulomb interaction and treat the proton as an
infinitely massive point particle at the origin.

2. Sketch xn(r) for the lowest three spherical bound states of the hydrogen atom. Justify
the qualitative features of each function. (2 Points)

3. (2 Points). Consider the eigenfunction for the ground state. Prove that to be physically
admissible this function must decay exponentially as r becomes infinite.

x1(r) = e *,whenr — co

where « is a constant, and that therefore x;(r) must have the form.

xi(r) = f(r)e™®".

4. Use f(r) = r. Justify why this is an appropriate choice and show that the above equation
is a solution of the equation you derived for x;(r) and determine the corresponding
eigenvalue Fy. (2 Points)

5. Derive an expression for the constant o in terms of fundamental constants. (2 Points)
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